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Fig. 1. ICARUS-2 simulation. Temperature-time and input enthalpy–time series.
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Fig. 2. ICARUS-2 simulation. Temperature-time and input enthalpy–time series.
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Fig. 3. ICARUS 2-simulation. Determination of "Start" and "Stop" of calibration pulse.
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Fig. 4. ICARUS-2 simulation. (k′c)11, (k′co)151, (k′co)161, (k′co)171, and (k′co)181 versus time.
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Fig. 5. ICARUS-2 simulation. Evaluation of (k′co)151.
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Fig. 6. ICARUS-2 simulation. Evaluation of (k′co)161.
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Fig. 7. ICARUS-2 simulation. Evaluation of (k′co)171.
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Fig. 8. ICARUS-2 simulation. Evaluation of (k′co)181.
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Fig. 9. ICARUS-2 simulation. (k′c)12, (k′co)152, (k′co)162, and (k′co)172 versus time.
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Fig. 10. ICARUS-2 simulation. Evaluation of (k′co)162.
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Fig. 11. ICARUS-2 simulation. (k′c)11, (k′co)151, (k′co)161, (k′co)171, and (k′co)181 versus time using first order differences.
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Fig. 12. ICARUS-2 simulation. Evaluation of (k′co)151 using first order differences.
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Fig. 13. ICARUS-2 simulation. Evaluation of (k′co)161 using first order differences.
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Fig. 14. ICARUS-2 simulation. Evaluation of (k′co)171 using first order differences.

-0.006 -0.004 -0.002 0-0.014

W
K-

1

INTERCEPT = 0.072999 WK-1
SLOPE = 318.1 JK-1
r = 0.999999



0.065

0.07

0.075

0.08

0.085

-0.01 -0.005 0
WK-1

Fig. 15. ICARUS-2 simulation. Evaluation of (k′co)181.
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Fig. 16. ICARUS-2 simulation. (k′c)12, (k′c)152, (k′co)162, and (k′c)172 versus time first order differences.
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Fig. 17. ICARUS-2 simulation. Evaluation of (k′co)162 using first order differences.
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Fig. 18. ICARUS-2 simulation. (k′c)21 and (k′c)31 versus time.
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Fig.19. ICARUS-2 simulation. (k′c)21 and (k′c)22 versus time.
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Fig. 20. ICARUS-2 simulation. Evaluation of (k′c)261.
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Fig. 21. ICARUS-2 simulation. Evaluation of (k′co)262.
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Fig. 22. ICARUS-2 simulation. Evaluation of (k′co)361.
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Fig. 23. ICARUS-2 simulation. Evaluation of (k′co)362.
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Fig. 24. ICARUS-2 simulation. Evaluation of (k′co)361 using mid-point integration rule.
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Fig. 25. ICARUS-2 simulation. Evaluation of (k′Ro)362 using mid-point integration rule.
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Fig. 26. ICARUS-2 simulation. Evaluation of (k′Ro)261 with +30J error in input enthalpy.
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Fig. 27. ICARUS-2 simulation. Evaluation of (k′Ro)262 with +30J error in input enthalpy.
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Fig. 29. ICARUS-2 simulation. Evaluation of (k′Ro)262 with -30J error in input enthalpy.
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Fig. 30. ICARUS-2 simulation. Evaluation of (k′co)361 +30J error in input enthalpy.
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Fig. 31. ICARUS-2 simulation. Evaluation of (k′co)362 with error +30J in input enthalpy and using intervals 145–177.

0 0.5 1 1.5 2 2.5

W
K-

1

INTERCEPT = 0.013085 WK-1
SLOPE = 484.2 JK-1
r = 0.995012



0

0.05

0.1

0.15

0.2

0.25

WK-1

Fig. 32. ICARUS-2 simulation. Evaluation of (k′co)362 with error +30J in input enthalpy and using intervals 156–177.
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Fig. 34. ICARUS-2 simulation. Evaluation of (k′co)361 with error +30J in input enthalpy.
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Fig. 35. ICARUS-2 simulation. Evaluation of (k′co)362 with error -30J in input enthalpy and using intervals 145–177.
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Fig. 36. ICARUS-2 simulation. Evaluation of (k′co)362 with error +30J in input enthalpy and using intervals 156–177.
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Fig. 37. ICARUS-2 simulation. Evaluation of (k′co)362 with error +30J in input enthalpy and using intervals 167–177.
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Fig. 38. The "raw data" for a blank experiment (Pt in 0.1M LiOD/D2O) 
in an ICARUS-2 calorimeter. Third measurement cycle. Evaluation of 
(k′4)11 and (k′R)2 using the graphical method.
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Fig. 39. The Temperature–Time variations in Fig. 38 in the vicinity of t and t on an expanded scale.
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Fig. 40. (k′R)11 for the experiment illustrated in Fig. 38 plotted versus time.
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Fig. 41. ICARUS-2. Evaluation of (k′Ro)151.
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Fig. 42. ICARUS-2. Evaluation of (k′Ro)161.
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Fig. 43. ICARUS-2. Evaluation of (k′Ro)171.
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Fig. 44. ICARUS-2. Evaluation of (k′Ro)181.
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Fig. 45. (k′R)11, (k′Ro)151, (k′Ro)161, (k′Ro)171, and (k′Ro)181 for the experiment illustrated in Fig. 38.
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Fig. 46. (k′R)12 for the experiment illustrated in Fig. 38 versus time.
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Fig. 47. ICARUS-2. Evaluation of (k′Ro)162 for the experiment illustrated in Fig. 38.
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Fig. 48. ICARUS-2. (k′Ro)152 , (k′Ro)162 , (k′Ro)172 , and (k′R)2  for the experiment illustrated in Fig. 38.
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Fig. 49. (k′R)21 and (k′R)31 versus time.
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Fig. 50. (k′R)21 and (k′R)11 versus time.
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Fig. 51. (k′Ro)21 versus time.
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Fig. 52. Evaluation of (k′Ro)251.
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Fig. 53. Evaluation of (k′Ro)261.
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Fig. 54. Evaluation of (k′Ro)271.
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Fig. 55. Evaluation of (k′Ro)281.
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Fig. 56. Evaluation of (k′Ro)351.
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Fig. 57. Evaluation of (k′Ro)361.
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Fig. 58. Evaluation of (k′Ro)371.
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Fig. 59. Evaluation of (k′Ro)381.
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Fig. 61. (k′R)22 and (k′R)32 over the range, t1<t<t2.
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Fig. 62. ICARUS-2. Evaluation of (k′Ro)261 using the ICARUS-1 Method.
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Fig. 63. ICARUS-2. Evaluation of (k′Ro)361 using the ICARUS-1 Method.
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Fig. 64. Evaluation of (k′Ro)262 using the ICARUS-1 Method.
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Fig. 65. Evaluation of (k′Ro)362 using the ICARUS-1 Method.
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Fig. 66. Evaluation of (k′Ro)252 using the ICARUS-1 Method.
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